Theorem 6-18 Trapezoid Midsegment Theorem Z Y
(1) The midsegment of a trapezoid is parallel to the bases. R A
(2) The length of the midsegment of a trapezoid is half the A@N M N

sum of the lengths of the bases.
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MN | TP,MN | RA,and MN = (TP + RA).
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Find the length of MN.
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ﬁ Find the value of x. M and N are midpoints.
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Find the length of ZY.
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Find the values of x and y in this Isosceles Trapezoid.
M and N are midpoints
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Find the value of x. M and N are midpoints.
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Find the value of x. M and N are midpoints.
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That's it

Done with Chapter 6!



Chapter 7: Similarity

Similar figures: Two figures that have the same shape
but not neccessarily the same size.

Symbol for Similar: =~



